6‘(,Yn-l') )
oo T— |
. -\ 2 235
3o« 9,02 B o
r-1\ w o= ¥
Jo .= a,(rm-o @
(A
=l
(1)
“2 T 843,418y F AN e)
re-i
2
Qz(r'{w re4 T
v Zn - = >
9, 0r*) =L 20 (s
3, 4a, -
1+ =10 10/3“7
Bppg T W3 46 - %
) = 13 s, - o
Bt 4Oz s T v b anz: 10+ (=) Xb)
T (et M-b= 1
S * Qo—{g"’)C‘b) > 3ps
[l =) Cwdizle)
I - Ci~1)
< 210+ ¥
0" s tomy g 4
S s (=] (med (1o
133) 0=
[PAT>
Tz 3
l U = gz Ced 12(e)
IIZ? 12]  (vmed 1210
”;r (2l (medluo)
ll" = ‘ l
fl(.?’.}4—5t('fl)n‘~{
o
/ A I x)
$asmn o Fys 3 e
/
’ 2 / , D) . 0 \ -
= = (K)) cs - A+ -0
C§'°7) ca) 3"sz § (*j/ 9 -4
W = 3.9'(8)

\—
>,“v"
+
wi-
X
+
Ry

/ s L\ / =
g 7‘*’3 =2 K7(’\)ij

7(0) =1 2



g M QP

AN
< 3 '?" 7 ~x
(2 3 v
S <% x <3 A
2 3
1z < x4 =723 6,506,233 b
§em a(x+4)(K=2) =9 o5l B
J J'.
S0 3(&21-2&*8) EE A-B= AOF
I
aC ( ANE)UCBNAD 35/ A+
~g¢h- 4xtl s o -
v
—2( & +xFI) +(E =0
Nz fex o NS E —f\,
Scxm- feod -3 ¥
—_— = P . |
3 Gyt To 05
ﬁf 800 = )ii‘?o Z“
|ow . oo (,'_Y? TS, . b2 e 1,
14 - &5 .2 * x b L Tz
o= 149
2240
16 15:
Az 34, 19920,378)
PA) = %){, 7%;857533) ;/}, 3033, $4,543%, §4,00,3,30, 393,05,
$4),%0, 30, 1033, 39;193,08, 39,397, 5933, $93, 9,70, $9,930)),
§ 434770, 190
1 b f@ b ? |
g!
A NV S Z
. * 32 Taa . TEE 2
\“ )
3{( L y!
/. ey /¥y o A b!
L '.3( (,)(') - W
3 b e
[ (O K xl ) ?){ ) = i* Lx.x:,
b
1 'y ab = 30 Ieef (ot
633 +i4b +C = 4rh 2 Dolodd o
= 3> 6‘-\
ast 2by+cC = R -
. ey F = Heks F(at2E “ob o v A z"‘.—i’\“‘l_%’*l 3:, v L4d..3
3(8) + 3 = 4 (ORI R A e
&2 &b &:_L
3
9t e~ lb#3x = 24
Qa,?ﬂ 2-" "_‘..\—4.‘4 - g
(7t , O i b x-=33'
Bl 2P CR R
HEMEL ¢ 24
0

2

3X



2(s> t4(2)
b (S) +1202)



